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QUESTION 1

Which connection/shared resource in ActiveMatrix BusinessWorks can reference a JNDI configuration? 

A. HTTP and FTP 

B. TCP and JMS 

C. FTP and JDBC 

D. JMS and JDBC 

Correct Answer: D 

 

QUESTION 2

How do TIBCO Designer projects store trusted certificates? 

A. in PKCS12 format 

B. in PEM format 

C. in PPK format 

D. in PFX format 

Correct Answer: B 

 

QUESTION 3

TIBCO Designer can create web services from which sources? 

A. WSDL and Process Definition 

B. SOAP RetrieveResource and Process Definition 

C. JMS Queue Subscriber and WSDL 

D. HTTP Receiver and JMS Queue Subscriber 

Correct Answer: A 

 

QUESTION 4

Which four resources can be shared using the LibraryBuilder? (Choose four.) 

A. PAR within an EAR 

B. JMS Configuration 



C. SAR within an EAR 

D. Identity 

E. SSL Certificate 

F. XSD Schema 

G. AAR within an EAR 

Correct Answer: BDEF 

 

 

QUESTION 5

Errors are being thrown, but they are beyond job boundaries for a Service Resource. Which activity should you use to
catch these errors? 

A. Rethrow 

B. Generate Error 

C. OnError 

D. Catch 

Correct Answer: C 

 

 

QUESTION 6

Click the Exhibit button. 



Given the following Start activity schema: 

How is the Address of each member accessed most efficiently? 

A. $Members.Address 

B. the FastAssign activity 



C. the Inspector activity 

D. $item/Address 

E. $Start/root/Members[$idx]/Address 

Correct Answer: D 

 

 

QUESTION 7

When using the Tester, which file is used to set custom engine properties (excluding Java properties)? 

A. the bwengine.xml file 

B. the designer.tra file 

C. a user created file 

D. the bwengine.tra file 

Correct Answer: A 

 

 

QUESTION 8

The JVM is crashing every time the ActiveMatrix BusinessWorks installer tries to start. Which two steps should be
taken? (Choose two.) 

A. add the parameter -update JVM to the installer 

B. check that the javahome directory contains bin/java.exe or bin/java 

C. check that the network has access to sun.java.com 

D. try running the installer using a different version of JVM 

Correct Answer: BD 

 

QUESTION 9

The Service Resource supports which transports for implementing web services? 

A. JMS and HTTP 



B. HTTP and TIBCO FTL 

C. TIBCO FTL and SMTP 

D. SMTP and TCP 

E. TCP and JMS 

Correct Answer: A 

 

QUESTION 10

Click the Exhibit button. 



Which two statements are valid about this process? (Choose two.) 



A. An otherwise transition should be added to this process for unknown test cases. 

B. This process must be restructured because it is not valid to have more than eight transitions. 

C. A group placed around the Start and all Map activities can unify the error handling. 

D. Because all transitions must be evaluated, there is overhead in the process. 

Correct Answer: AD 

 

 

QUESTION 11

Which two methods does ActiveMatrix BusinessWorks support for storing trusted certificates? (Choose two.) 

A. in a project 

B. in an alias library 

C. in PKCS12 format 

D. in KeyStore format 

E. in a design time library 

Correct Answer: AE 

 

QUESTION 12

ActivationLimit is applied when which property is set to a value greater than 0? 

A. ThreadCount 

B. StepCount 

C. MaxJobs 

D. FlowLimit 

Correct Answer: C 
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